INSTALLATION GUIDE

2021 - CURRENT
CHEVROLET TAHOE
STORAGE DRAWERS

ASBD57T21
WSD57T21

Pro-gard

PRODUCTS LLC.

STRONG. RELIABLE. SECURE.

pro-gard.com
800.480.6680

Released 05.21.2021



THESE COMPONENTS ARE REQUIRED
TO INSTALL A STORAGE DRAWER

4WSK572100 3ASBD57T15 3WSD5715

I. The following tools will be required to complete the installation

A. 7/16” Socket D. 3/16" Hex Key G. Utility Knife
B. 1/2" Socket E. 8mm Hex Key H. 9/32 Drill Bit
C. 1/2" Combination Wrench F. 3/8" Socket I. Torx T50

Il. Read all instructions and refer to the Parts List to ensure all parts were received.

NOTE: This storage drawer can be used with or without the Pro-gard Cargo Barrier system.
Install the Barrier system before installing the storage drawer.

WARNING: Locate all wiring, fuel lines, brake lines, coolant lines, and refrigerant lines before
drilling any holes or installing any self-drilling fasteners.

lll. Prepare the Cargo Area

A. Locate the points where the storage drawer brackets will mount. Figure 1 shows the Barrier brackets that
the storage drawer brackets will mount on top of if present - the floor covering is not shown in the figure. If
the storage drawer is being installed without a Barrier, the same locations will be used but the storage
drawer brackets will bolt directly to the floor pan.

- = T 1

3BAR572101 =

3BAR572102

W

Figure 1

pro-gard.com
800.480.6680



Locate the (4) storage drawer brackets [3WSD572100, 01, 02, 03] and place them into the cargo area.

Figure 2 shows the locations they will mount to.

Using a utility knife, trim the floor covering to ensure the brackets will mount either directly on top of the

barrier brackets or flush to the floor pan.

3WSD572101

IV. Install the Rear Brackets

A

Using a T50, remove the driver side OEM 3rd row
seatbelt fastener - this fastener will be holding
the Driver Lower Barrier Bracket [3BAR572102] if
the Barrier is installed.

Using an 8mm hex key, remove the M10 bolt
[3X254] from the Barrier Bracket and then use a
3/16" hex key and a 1/2" wrench to remove the
5/16" fastener and whiz nut holding the Barrier
Support Bar [3BAR572105] to the bracket.

Position the Driver Rear Storage Drawer Bracket
[3WSD572100] as shown in Figure 3. Loosely
secure in place with the OEM fastener that was
removed in step A. and a M10 bolt [3X254]. If
installing with a Barrier, position the Barrier
Support Bar between the Lower Barrier Bracket
and the Rear Storage Drawer Bracket and loosely
secure with the fastener and nut that were
removed in step B (Fig. 3).

Use a T55 and an 8mm hex key to tighten the
fasteners attaching the bracket to the vehicle. If
installing with a Barrier, use a 3/16" hex key and
a 1/2" wrench to tighten the 5/16” fastener.

Figure 2

3WSD572102

Bracket shown with
Barrier Brackets

3WsSD572100 —

3BAR572105

\
v

3BAR572102

/

Figure 3

Repeat steps A. - D. for the passenger side using the Passenger Rear Storage Drawer Bracket
[3WSD572102] and another (1) M10 socket cap screw [3X254].

pro-gard.com
800.480.6680



V. Install the Front Brackets

A. Locate the Driver Front Storage Drawer
Bracket [3WSD572101] and orient it
according to the position identified in
section lll. If installing with a Barrier, this
is on top of the driver side Lower Barrier
Bracket [3BAR572101] (Fig. 4). Bracket shown with Barrier

B. If installing with a Barrier, use a 3/8"
socket to remove the two self-drilling
fasteners [3X162] and use an 8mm hex
key to remove the M10 bolt [3X254] from
the Lower Barrier Bracket. Then use a
7/16" socket to remove the (2) 1/4” whiz
nuts [3X16Z] that are holding the Lower
Barrier Bracket to the Barrier.

C. Place the Driver Front Storage Drawer
Bracket into position and loosely secure
with (1) M10 bolt [3X254]. If installing with
a Barrier, loosely secure with the M10 bolt
as well was the (2) 1/4” whiz nuts that
were removed in the previous step - the .
1/4” bolts will go through the Barrier, the Lower Figure 4
Barrier Bracket, and the Storage Drawer Bracket.

3BAR572101

D. Repeat steps A. - C. for the passenger side using the Passenger Front Storage Drawer Bracket
[3WSD572103] and (1) M10 bolt [3X254] if necessary.

VI. Drawer Installation

A. Open the drawer that is being installed and release the drawer from the housing by pushing on the black
tabs inside the drawer slides and sliding the drawer out. Set the drawer aside.

B. If installing an Aluminum Drawer:

1. Locate (6) carriage bolts [3X001] and (6) whiz nuts [3X16Z] and place them in the cargo area of the
vehicle.

2. Position the drawer housing on top of the brackets, align the holes in the drawer housing with the
corresponding holes in the brackets and place a carriage bolt through each of them.

3. Install a whiz nut onto each of the bolts to secure the drawer to the brackets.

4. Orient the drawer housing in the desired location within the vehicle then tighten the M10 bolts that
were left loose on the Front Brackets. Install (2) self drilling screws [3X162] into each of the Front
Brackets using the small holes in the brackets. If installing with a Barrier, these self-drilling screws will
be using holes that were originally made when the Barrier was installed.

5. If installing with a Barrier, use the hole in the top portion of the Front Brackets as a guide to drill a hole
in the Barrier. Place (1) washer [3X12] between each Front Bracket and the Barrier and secure the
Front Brackets to the Barrier using (1) 1/4” button head [3X184] and (1) whiz nut [3X612] per side.

C. Ifinstalling a Wood Drawer:

1. Orient the Front Brackets to line up with the Rear Brackets as best as possible. Tighten the M10 bolts
that were left loose on the Front Brackets. Install (2) self drilling screws [3X162] into each of the Front
Brackets using the small holes in the brackets. If installing with a Barrier, these self-drilling screws will
be using holes that were originally made when the Barrier was installed.

pro-gard.com
800.480.6680 4



2. If installing with a Barrier, use the hole in the top portion of the Front Brackets as a guide to drill a hole
in the Barrier. Place (1) washer [3X12] between each Front Bracket and the Barrier and secure the
Front Brackets to the Barrier using (1) 1/4” button head [3X184] and (1) whiz nut [3X612] per side.

3. Locate (6) carriage bolts [3X001] and (6) whiz nuts [3X16Z] and place them in the cargo area of the
vehicle.

4. Position the drawer housing on top of the brackets and mark the (6) locations where the holes in the
brackets meet the bottom of the drawer.

5. Remove the drawer housing from the vehicle and use a 9/32” drill bit to drill the holes marked in the
previous step.

6. Position the drawer housing back in the vehicle and install a carriage bolt and whiz nut into each of the
(6) holes to secure the drawer housing to the brackets.

D. Reinstall the drawer by carefully sliding the drawer slides back together.

Installation complete

If you have any problems with this installation or have any questions please call (800-480-6680)
and ask for technical assistance.

pro-gard.com
5 800.480.6680



PARTS LIST

ITEM| QTY PART NUMBER DESCRIPTION

1 1 3WSD572100 DRIVER REAR STORAGE DRAWER WELDMENT

2 1 3WSD572101 DRIVER FRONT STORAGE DRAWER WELDMENT
3 1 3WSD572103 PASSENGER FRONT STORAGE DRAWER WELDMENT
4 1 3WSD572102 PASSENGER REAR STORAGE DRAWER WELDMENT
5 1 4WSK572101 STORAGE DRAWER HARDWARE KIT

5.1 6 3X16Z 1/4-20 LARGE HEX WHIZ NUT-ZINC

5.2 6 3X001 1/4-20 X 1 3/4 CARRIAGE BOLT

53 4 3X254 M10-1.5X30 SHCS ZINC

5.4 4 3X162 #14 x 3/4" SELF DRILLING HEX HEAD SCREW

5.5 2 3X12 1/4 FLAT WASHER, BLACK

5.6 2 3X184 1/4-20x0.75, BHSCS, BLACK OXIDE

5.7 2 3X612 1/4-20 LARGE DIAMETER SERRATED FLANGE NUT

pro-gard.com
800.480.6680



